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SECTION - A
i) General Awareness

The book ‘Gulamgiri’ was written by
(A) Raja Ram Mohan Roy

(B) Swami Vivekananda

(C) Jyotiba Phule

(D) Pandit Ramabai

Which State does not share border with
Pakistan ?

(A) Rajasthan

(B) Punjab

(C) Guijarat

(D) Himachal Pradesh

“Renminbi” is the official currency of the
which of the following Nation ?

(A) China

(B) Indonesia

(C) Japan

(D) None of the above

What is the abbreviation of UNESCO ?

(A) United Nations Educational, Scientific
and Cultural Organization

(B) United Nation Education and

Sustainable Development

Co-organization

United Nation Environment and

Sustainable Development

Co-organization

(D) None of the above

(©)

Recently there was Nipah virus breakout,
choose the following options, in which
State it's created public tension.

(A) Delhi (B) Sikkim

(C) Haryana (D) Kerala

6.

10.

The Point Calimere Wildlife Sanctuary
which is also a RAMASAR site recently
in news, is located in which of the
following State ?

(A) Kerala

(B) Tamil Nadu

(C) Rajasthan

(D) None of the above

Which of the following country recently
started the “Web-wonder Women
Campaign”, which aims to celebrate the
exceptional achievements of women all
over the world, who have been driving
positive agenda of social change via
social media ?

(A) India

(B) Australia

(C) USA

(D) None of the above

Beej Bachao Andolan (save the seed)
was initially started in

(A) Bihar

(B) Madhya Pradesh
(C) West Bengal
(D) Uttarakhand

“Sun Temple Konark” is situated at
which of the following State ?

(A) Odisha

(B) Guijarat

(C) Karnataka

(D) None of the above

Jhum cultivation, a type of slash burn
agricultural practice, is most popular in

(A) Haryana

(B) Kerala

(C) Punjab

(D) Arunachal Pradesh
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11.

12

13.

14.

15:

Which of the following app system is in
use for electronic toll collection system
in India, which is operated by National
Highway Authority of India ?

(A) FASTag app

(B) E-toll app

(C) Aaykar app

(D) None of the above

Every year 11" November is celebrated
as National Education Day to mark the
birth anniversary of

(A) Jawaharlal Nehru

(B) Maulana Abul Kalam Azad
(C) A.P.J.Abdul Kalam

(D) None of the above

What is the abbreviation of Bt in
transgenic variety Bt cotton ?

(A) Bio Technology

(B) Bacterio Thermogenesis

(C) Bacillus Thuringiensis

(D) None of the above

Panna§ tiger reserve is situated in
(A) Rajasthan

(B) Madhya Pradesh

(C) Jammu & Kashmir

(D) Gujarat

First woman Chief Minister of free India
is

(A) Sarojini Naidu

(B) Rukmini Devi Arundal

(C) Sucheta Kriplani

(D) Vijayalakshmi Pandit

16.

7.

18.

19.

20.

SO0 0

In which of the following country,
Mangdechhu Hydroelectric Project, a
720MW run-of-river power plant built with
a support from Government of India ?

(A) Myanmar

(B) Afghanistan

(C) Bhutan

(D) None of the above

Which of the following river given below
is the longest river in India ?

(A) Ganga

(B) Indus

(C) Brahmaputra

(D) None of the above

Which of the following country
given below is not a member of Guilf
Cooperation Council ?

(A) UAE

(B) Iran

(C) Bahrain

(D) None of the above

Which country recently handed over
Apache Guardian attack helicopter to
India ?

(A) USA

(B) Russia

(C) Japan

(D) None of the above

The State known as the “Land of Red
River and Blue Hills” is

(A) Assam
(B) Manipur
(C) Orissa
(D) Jammu & Kashmir
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(A) FASTag app

(B) E-toll app

(C) Aaykar app
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(C) T 3R herfie
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if) General Intelligence and Reasoning Ability

It REQUEST is written as S2R52TU,
then how will ACID be written ?

(A) 1394
(B) 1C94
(C) BDJE
(D) None of these

ABCD : NPRT :: FGHI : ?
(A) KLMN (B) OQRT
(C) RTUW (D) SUWY

If the animals which can walk are called
‘swimmers’, animals who crawl are
called ‘flying’, those living in water are
called ‘snakes’ and those which fly in
the sky are called ‘hunters’, then what

will a lizard be called ?
(A) Swimmers (B) Snakes
(C) Flying (D)Hunters

Find the missing character.

2 5 10

17 | 2 37

50 65 82
(A) 20 (B) 26
(C) 27 (D) 32

Choose the missing term out of the
given alternatives.
GH, JL, NQ, SW, YD, ?

(A) EJ (B) FJ
(C) EL (D) FL

26.

27.

28.

29.

Moon : Satellite ; : Earth : ?
(A) Sun

(B) Planet

(C) Solar system

(D) Asteroid

Find the missing character.

5

64 8

3 = 2
(A) 1 (B) 2
€ 3 (D) 4

Which fraction comes next in the
sequence ?
T8 5 7
2'4'8'16 ' -
9 10
(A) — B) —
32 17
11 12
@ = O —

Find the missing term.
1,4,27, 16, ?, 36, 343

(A) 25
(B) 87
(C) 120
(D) 125
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ii) AT Flguat a°T Arfches Argan

e REQUEST %! S2R52TU & &9 H
ot sat 8,/ ACID 8 ferat s ?

(A) 1394

(B) 1C94

(C) BDJE

D) T8 g oft 7

ABCD : NPRT :: FGHI : ?

(A) KLMN (B) OQRT
(C) RTUW (D) SUwWY

e T I STHaR e el Wil &,
S STHER 1 TR § 3% 38 el ST ®,
St 8 T et e € 3% 9 hed §
SARCSTT STTHIST H 3¢ Wohal & 38 TR el

ST 8, a1 foaerelt ol o et SR 7
(A) qTH (B) @9
(C) 3™ (D) R
UG 9T ST 94T T |

2 5 10

17 ? 37

50 65 82
(A) 20 (B) 26
(C) 27 (D) 32
fu gu okl & & =t ve 9T |
GH, JL, NQ, SW, YD, ?
(A) EJ (B) FJ
(C) EL (D) FL

26.

27.

28.

29.

TEAT - 39U : : g ;2

(A) FE?

(B)

(©) ﬁtm

(D) gshe

ST T 1 9aT T |

5
4 1

7 2

(A) 1
€) 3

B) 2
(D) 4

SIS T ST i ST STl & 7

| w
@ |

7
15 iy ?
16

N | -

9 10
(A) = (B

11
— @512

© 3 =

SIEGIRIERCISH
1,4,27, 16, 2, 36, 343
(A) 25

(B) 87

(C) 120

(D) 125
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30.

31.

32.

33.

35.

Pulp : Paper : : Hemp : ?

(A) Basket (B) Yarn
(C) Rope (D) Cotton
8 7 7
26 25 4@6
6 8 10
(A) 42 (B) 46
(C) 48 (D) 50
6:18::4:.7
(A) 2 (B) 6
(C) 8 (D) 16

In the series 7, 14, 28, .... what will be
the 10" term ?

(A) 1792
(C) 3584

(B) 2456
(D) 4096

The age of a father is twice that of the
elder son. Ten years hence the age of
the father will be three times that of the
younger son. If the difference of ages
of the two sons is 15 years, the age of
the father is

(A) 50 years
(C) 60 years

(B) 55 years
(D) 70 years
Find the next term in the alpha-numeric

series :
Z1A, X2D, V6G, T21J, R88M, P445P, ?

(A) N2676S
(B) N2676T
(C) T2670N
(D) T2676N

36.

37.

38.

39.

40.

0 OO0 OO

Find the missing character.

17
13 n
al\ 5[\ ‘ l\
7 2 15

(A) 2
C) 8

Find the next term in the series :
BMO, EOQ, HQS, ?

(A) KSU
(B) LMN
(C) Sov
(D) SOW

Cyclone is related to anticyclone in the
same way as Flood is related to

(B) Havoc
(D) Drought

(A) Devastation
(C) River

AB, DEF, HIJK, 2, STUVWX
(A) LMNO

(B) LMNOP

(C) MNOPQ

(D) QRSTU

C4X,F9U,I16R,?
(A) K25P
(B) L25P
(C) L250
(D) L27P
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30. T HEON ;T : 7 36. ITUTEA TS I IAT T |
() 2t ®) & ) I\
0 L
: . . () 2 ®) 6
o 26 25 4@6 ©) 8 (D) 64
6 8 10
6

C
A

(A) 42 (B) 4 37. SFEATH AT 95 14 o |
(C) 48 (D) 50 BMO, EOQ, HQS, ?
(A) KSU
32, 6= 1Bz d
A) 2 (B) 6 (B) LMN
(C) 8 (D) 16 (C) Sov
(D) SoOwW
33. 7,14,28, .. T HAOM@HRIEM? | o LT IIE ST SHIB £ S o
(A) 1792 (B) 2456 i Gibe
C) 3584 D) 4096 B
) o (A) = (B) q=El

o o il sy e S a o et | af
1 SISl % 30 1 HM 15 W 8, A | 39, AB, DEF, HIK, 2, STUVWX

,
NIRRT A1 IEAND
(A) 509 (B) 55 FTe
(C) 60®TE (D) 70 4T {BJ R MNOE
(C) MNOPQ
35. 3H-HER F@e § AT U Fid il | (D) QRSTU

Z1A, X2D, V6G, T21J, R88M, P445P, ?
40. C4X,F9U,I16R,?

(A) N2676S ar el
A

(B) N2676T (6) L 25P

(C) T2670N (C) L250

(D) T2676N (D) L27P
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41,

42.

43.

44.

45.
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iif) Arithmetical and Numerical Ability

A solid in which a cone is standing on
a hemisphere with both their radii being
equal to 1 cm and the height of the cone
is equal to its radius. The volume of the
solid in terms of mis

(A) mem3 (B) %cm3
4 T
= 3 Zeom3
(C) 3 cm (D) 30m

ks
The value of J'sin3 x cos® x dx =

3 ’ 2
A 7 ® 7
(C) 0 (D) none of these

A kite is flying at a height of 60 m above
the ground. The string attached to the
kite is temporarily tied to a point on the
ground. The inclination of the string with
the ground is 60°. The length of the
string, assuming that there is no slack
in the string, is

(A) 60m

(C) 304/3m
If a sum of money doubles itself in 8 yrs
at a certain rate of simple interest then

the number of years required to triple
itself is

(A) 24 years
(C) 12 years

sinb+cosb _ g

(B) 40V3m
(D) none of these

(B) 16 years
(D) none of these

3 then the value of

sinG —cosH
7tanf + 2 )
2tanf+7 'S 1
(A) 1 B) 3
]
C) 2 0) 3

46.

47.

48.

49.

50.

51.

If4X=5Y = 20%then z =

X+Yy

() xy ®
1 Xy

© & B}

In an examination, there are 3 multiple
choice questions and each question
has 4 choices. Number of ways in which
a student can fail to get all answers
correct is
(A) 11

(C) 27

Two consecutive positive integers, sum
of whose squares is 365 are

(A) 13, 14 (B) 12,13
(C) 10,35 (D) none of these

If 80 is divided into 2 parts such that
their product is maximum then the
2 parts are
(A) 25,55
(C) 40,40

(B) 35,45
(D) 15,65 °

In a group of students, 100 students
know Hindi, 50 know English and
25 know both. Each student knows
either Hindi or English. The number of
students in the group is

(A) 100 (B) 175

(C) 125 (D) none of these

is
(A) 1
C) 2

B) 3
(D) 9
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iii) STEITTOTATS TS HEATeHeh qrgdl

T 39 S U A W GS 0 TF ¢
3R 31 %1 B5=A1S 1 cm & 3R g #
F9TE 3 ST & SR Rl n H Ee H
39 FT A &

2n

—3—cm3

4n b1

(C) —3—cm3 (D) acm3

(A) mem? (B)

[ sin® x cos® x dx FHI RS ?

) % B) 74

(C) 0 (D) FHHHEE

T 9T SRIGS © 60 m o HaTs T IS &l
2 | 9§ ST AR I ITEITE T Y A
T forg & Sie1 T R | OR F Wad &
1Y 3999 60° & | A H 1§ FA 78 8,
7E A U IR I T8 2

(A) 60m (B) 40/3m
(C) 30V3m (D) T & 15 I
Ife e=f3T 8 AT H W hl GTIROT 547 i

T TGN 3 il &, ¥ 3 Fargen
F & fore sravas a6t i gE

(A) 24 a4 (B) 1698
() 12ad (D) T © =1 T&

7tanf6+2
2tan6+7

sinb + coso _ 7 5
sinf-cosf /3

FIAA B

(A) 1 (B)

N = @

(C) 2 (D)

486.

47.

48.

49.

50.

51.

afe 4x = 5Y = 20% T 2 =

(A) xy B

il xy
© %y (5 e
U Wi |, o I & 3R
e T & AR foeheq @ | daiiehl sh G
T8 we foemeff wsft ot 3oyt = |
3TEHSA B
(A) 11 (B) 12
(C) 27 (D) 63

2 FHRTA ST Ui, Fmas it s am
365%

(A) 13,14 (B) 12,13
(C) 10,35 (D) 3 & HIE T&
afe 80 = 2 9 H 3@ YR fawrisia foran

e o 3T RS STfesRad @, @t 2
T &

(A) 25,55
(C) 40,40

(B) 35,45
(D) 15,65

e & uek wE & 100 formeff &
A 2 | 50 S S 2 37T 25 1 S
2 | 7fe g fommeff an-at &t @ sish
ST &, dt T ¥ faenfiai i gemn @

(A) 100 (B) 175

(C) 125 (D) T8 & 15 T
3%)(3‘%)(3%)( ..... Wmmﬁ%
(A) 1 (B) 3

(C) 2 (D) 9
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52.

53.

54.

95.

Mr. Bean spends twice as much in
December as in each of the other
months. What part of his entire years
spendings does he spend in December ?

A & ®) ¥,

(C) 2/13 (D) none of these

Walking at 4 kmph a student reaches his
school 5 minutes late and if he walks

1
at 5 kmph he reaches 25 minutes

early. The distance between his school
and house is

(A) 2km
(C) 3km

(B) 2.5km

(D) none of these

A card is drawn from a deck of 52 cards.
The probability of getting a king or a
heart or a red card is

(A 43,

© %o

An electronic device beeps after every
60 seconds. Another device beeps
after every 62 seconds. They beeped
together at 10.31 a.m. The time when
they beep together at the earliest is

1
® 7

(D) none of these

(A) 11.02 a.m.
(B) 10.52 a.m.
(C) 11.31 a.m.

(D) none of these

56.

57.

58.

59.

60.

0 000 O 0 O O

The number of revolutions a toy wheel of
28 cms in diameter makes in travelling a

. . 22
distance of 880 cms is |use = ?

(A) 100
(C) 50

(B) 88
(D) 10

The income of a person is Rs. 3,00,000
in the first year and he receives an
increase of Rs. 10,000 to his income
per year for the next 19 years. The total
amount, he received in 20 years is

(A) Rs. 80,00,000

(B) Rs. 79,00,000

(C) Rs. 82,00,000

(D) None of these

The recurring decimal 0.2111 ..... can be
expressed in the rational form as

21 19
(A Too B) 9o

211 19
©) Jo00 D) 99

The longest side of a triangle is
3 times the shortest side and third side
is 2 cm shorter than the longest side. If
the perimeter of the triangle is atleast
61 cm, then the minimum length of the
shortest side will be

(A) 10cm (B) 9cm

(C) 3cm (D) none of these
The number of 3 digit numbers divisible
by 7 is
(A) 100
(C) 70

(B) 200
(D) 128
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52,

53.

54.

55.

=13:

sft ofi= fega & foreht oft 31 Wi @ <
Td Fd § | R TS & @ H R wm
i@ wa & ?

A B ¥,

©) %s (D) < &
4 km Ifq =21 il =T B Tere U farmeff
5 fime 38 ¥ forrmer og=an @ i afe %
5 kmyfd g T aAa el 2% fime

) e 2 | 3 e S T
Hghe

(A) 2km
(C) 3km

(B) 2.5km
(D) T8 ¥ =S A&

52 U=l i TgEl H H U R G TR |
T S1G3ME I1 Toh 9 &l 91 31 U ol
T TS A sl TR @

:
® -

(D) =7 & =g 7

A 4%,

©) ¥

T SAaie i Tedsh 60 TS & 915
It @ | T YR T 62 e % A1d
ot ® | T 1 U T1Y 10.31 S WI4:
ot 2 | e 3 o Twa v gy set

(A) 11.02 a.m.
(B) 10.52 a.m.
(C) 11.31a.m.

(D) 3 & 1S T

56.

§i7.

58.

59.

60.
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880 cms %1 gl 78 T H 28 cms =TE F
us et = ufean ot SR g = @

[n=2?2wmaﬁ)|

(A) 100
(C) 50

(B) 88
(D) 10

Us sgfad i 37 999 98 | %. 3,00,000
? 3R 9% 3Tt 19 a9l a% i 99 o
JF | F. 10,000 FI FGL I FAT @ |
20 N1 H 3T I U THT &

(A) %. 80,00,000

(B) %.79,00,000

(C) %.82,00,000

(D) T8 & F1E e

a4l eyEed 0.2111 ... IRy w4 §
29117 ST @

21 19
BY 505 B o
211 19
©) 7o ) g3g
T B o1 T el ST el Srel g
1 3 1 3R et o T ol g

" 2cm B 2 | 3fe By <l afmm wn &
9 61 cm 2, T T BT Y1 Y A
g Bt
(A) 10 cm
(C) 3cm

(B) 9cm

(D) 38 § FIE T

3 3{ehi ol G S 7 ¥ faursg 2
(A) 100 (B) 200
(C) 70 (D) 128
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

2=t W s Ey

‘gaff IR fem A A gl
(A) e

(B) gfewrm

(C) Tg@ehfeTT

(D) H & I3 T

B o ST & 3 & vt 0 oft v
geg el e’ 39 e | g R

(A) e

(C) 3Tt 7Y

(B) SIS
(D) Toreft =t

‘g’ vIeg 1 H=TEASH €Y B

(A) FeIfE (B) werEh

(C) wetfed (D) el

4 9% 9T I 7 FEdl AR q
I8 1 YGINE &

(A) T~ ITHGEY - THaa [
(B) T -~ HEAHTE ~ TR = -l

(C) T -TIHYES - UhaTo ~ el R

(D) @F ATH-HEIAYLET - TUFH I -
AR

‘SruEE 99 YIsS § 39T ©
(A) A
(B) 3

(C) U
(D) S 3uE 7 ?

66. ool T AT H g WA 36 YerE o 31 ¥
(A) FEyE FE
(B) TISST SFIHI HTAT
(C) B HHAT
(D) T W ST SHT
67. Siga foafan |
) OO OHE &) e
I &
1) G YaHE @) T UEH 8
3) i s ) g8 AT o
%) ol e ) Hiaew
BT o
3) QO A T) FRIE TH A
e 1 35
fosm e
F) TqRgEEaEE =) o | fHar
EEICI
qH M@ 3T 3T I T
AT @ & T ¥ T
®E® I ® ¥ T T
©% ® % T T U
D)% @ ¥ T I §
68. ‘A TS uE AT FAHRR |
(A) ¥deRTed
(B) FdHM HTeA
GRE
(D) ¥ 37 FAHE Qi
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69. WS + WiV =
(A) FRGIfT (B) Wi
(C) I=sfa (D) YR&T™I
70. UEA FRI___ w9 M el
(A) STt
(B) FHHURH
(C) wgsiife
(D) dcges
71. ‘ST ¥Ieg I WiaaTa® Gl ©
(A) SETERe (B) =™
(C) == (D) =@T

72. ‘gfear wE # agEEd €9

(A) Ffeat (B) Sfea
(C) e (D) et
73. 99 G T fomm S 7 @ °
(A) AN R &
(B) erft Eardh @
(C) 3HT STt 8
(D) S AT &
74. EFT:fi::EfQ:
(A) 39 (B) @4
(C) dwmn (D) ¢
75. I AEFAEaER
(A) AT (B) TS
(C) o= (D) e
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76.

77

78

79

80.
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foraT U2 spHaT=y § 78] 21 |

(A) HFHE (B) 3w
(C) HrEHT (D) =AfFaar=s
T ¥ FE fashed T3] gHm &1 3ere
T 7
(A) 3TsaTegrit
(B) fretr=
(C) <RI (=)
(D) HwIeTl
T = vise gfee § s e e ?
(A) e ~ (B) ==
(C) wferar (D) wm
StrgaR frfan |
) & Ey F) W
am) gfgdfa g) faemem
3) EN M) Hed
%) FupEfy ¥) ooy
A w3 3
(A) @ T Eo o
B) @ & T q
©€) = tC| = i
(D) = T Ed LG
‘I8 a1 T Sieal & 39 are | el gee
TR
(A) 9% (B) &1
(C) & (D) e
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v) English Language and Comprehension

ST wr sk Sy

Select the synonym of the words in capital.
81. DETRACT ,
(A) Derogate (B) Desert
(C) Deceive (D) Desperate
82. FILCH
(A) frugal (B) ruin
(C) steal (D) diminish
Use appropriate articles.
83. milk in this pot is meant
for children.
(A) A (B) An
(C) The (D) Not needed
84. lamgoingto -hospital to visit
a friend.
(A) a (B) an
(C) the (D) not needed

Identify the tense of the given sentences.

85. They are going to Pune tomorrow.
(A) Simple present
(B)
(C) Present perfect continuous
(D)

Present continuous

Past tense

86. The gates had closed before he
reached.

(A) Simple past
(B) Present perfect
(C) Past perfect
(D) Simple future

-16-

87. The seminar begins tomorrow.
(A) Simple present
(B) Simple past
(C) Present perfect
(D) Past perfect

Punctuate the sentence.

88. Ketan said to his mother what weather
this heat has really exhausted me.

(A) Ketan said to his mother, what
weather this heat has really
exhausted me.

(B) Ketan said to his mother, “what
weather, this heat has really
exhausted me

(C) Ketan said to his mother, ‘What
weather | This heat has really
exhausted me.’

(D) None of the above

89. ‘l am sorry | forgot the parcel,
(A) ‘l am sorry i forgot the parcel
(B) ‘l am sorry, | forgot the parcel.’
(C) ’l am sorry | forgot the parcel’
(D) ‘l am sorry i forgot the parcel’
Choose the most appropriate word from the set

of words given under each sentence to fillin the
blank.

90. It was difficult to see through the
of the headlights.

(A) shine
(C) dazzle

(B) glare
(D) strode
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Select the antonym of the words in capital.

91. IMPERIOUS

(A) commanding

(B) autocratic

(C) dominant

(D) modest
92. PIQUANT

(A) pert (B) salty

(C) bland (D) zingy
Select a compound sentence from the
following.
93. (A) You must take special classes or

94.

95.

Z T

you'll not learn French.
(B)
(©)
(D)

He is respected for his honesty.
It is too hot to play outside.

Rita is the girl who is an excellent
swimmer.

(A)
(B)
(C)
(D)

| can prove that he is a liar.
He got the money he wanted.
He is a liar and | can prove it.

She has lost the book she borrowed
yesterday.

Select the sentence which is in positive
degree.

(A) He does not love you as much as |.
(B)
(©)
(D)

He is the richest man.
She is a better singer than me.
It is easier to speak than to act.

MKG-XXHI/TECHJC/1T/02

Use appropriate phrasal verb to fill in the
blanks.

96.

97.

98.

The thief broke into the bank and
with the cash.

(A) made up

(B)

(©)

(D)

made away
made on
made into

lata
laughing at her.
(A) broke down
(B) broke off
(C) broke into
(D) broke up

when she saw everyone

It was past midnight when he finally

(A) turned out
(B) turned up
(C) turned on
(D) turned off

Change the voice of the following sentences.

99.

100.

“Farmers grow wheat”.

(A) Wheat is being grown by farmers.
(B) Wheat has been grown by farmers.
(C) Wheat is grown by farmers.

(D) None of the above

“We were alarmed at the news”.
(A) The news alarmed us.

(B) The news alarm us.

(C) The news is alarmed us.
(D) The news was alarmed us.
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101.

102.

103.

104.

105.
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SECTION -B
Post Specific Subject — Related Questions

are called pseudo solids.
(A) Liguids
(B) Crystalline solids
(C) Amorphous solids
(D) Anisotropic solids

Example for polar molecular solid is
(A) Solid SO,

(B) Ice

(C) NaCl

(D) lodine

When constituent particles are present
only on the corner positions of a unit
cell, it is called as unit cell.

(A) Body centred
(B) Face centred
(C) Primitive

(D) End centred

CaSO, possess
(A) Cubic
(B) Tetragonal
(C) Orthorhombic
(D) Triclinic

crystal system.

In a BCC unit cell, total number of atoms
per unit cell is

(A) 1
(B) 2
(C) 4
(D) 3

108.

107.

108.

109.

110.

Packing efficiency in hcp and ccp
structures is

(A) 52.4%
(B) 68%
(C) 45%
(D) 74%

Network solids are
(A) Soft

(B) Hard

(C) Malleable
(D) Brittle

defect increases the density
of the substance.

(A) Stoichiometric
(B) Vacancy

(C) Interstitial
(D) Frenkel

shows both Frenkel and
Schottky defect.

(A) NaCl
(B) KCI
(C) Agl
(D) AgBr

Colour of Zinc oxide at room temperature
(A) White

(B) Blue

(©)

(D)

Yellow
Orange
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"W - d
uree wfafes fawg - g9 e
101. BgH I FEA ¢ | 106. hcp 3R cep gidi H YT FHrerar
(A) =3 (A) 52.4%
(B) U 31 (B) 68%
(C) THNEH 3 (C) 45%
(D) fowmesfia 3 (D) 74%
102. gaﬁu;rﬁ%rma‘mmm% 107. Yead 3 s
(";) aq% 802 (A) HE
o @) ==
a -
(D) 3MMEEH © ﬁm
3 % ] I I G e
103. s Uh SohTS SIS o F 141 T FHae] GHF .
7 U |, e FTE Fraw | 108. e vaed il ¥ T ¢ |
4 (A) wHRRTHTS
(A) ﬁ?m%ﬁﬁ (B) fifFa
(B) W?ﬁiﬁ (C) e
(©) mﬁﬁ (D) et
(D) 7a Ffsm . :
109. Sehet 3R ThicH! qfE <Ml
104. CaSO, THie TEd U Ll ot 2 |
i (A) NaCl
) (B) KClI
(B) Sgria S
() fremeiana (©) Ag
D) B (D) AgBr
105. T el 3 e i, v s Eres | 110 %Y F q99E | 5% fgaEs w51 W
T T el HET ® FAR |
A) 1 (A) ¥
(B) 2 (B)
(C) 4 (C) dien
(D) 3 (D) =Rt

-19-
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112.

113.

114.

115.
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Commercial bleaching solution contains
mass percentage of sodium
hypochlorite in water.

(A) 6.32
(B) 3.62
() 262
(D) 4.62

Example for ideal solution is
(A) Ethanol and acetone
(B) Chloroform and acetone
(C) Phenol and aniline

(D) Benzene and toluene

A solution of 1 mol of sucrose in
1000 g of water boils at at
one atmospheric pressure.

(A) 278.6 K
(B) 373.52K
(C) 377.15K
(D) 273.52 K

Molecules of ethanoic acid dimerise in
benzene due to

(A) Covalent bonding
(B) Hydrogen bonding
(C) Osmosis

(D) Reverse Osmosis

For strong electrolytes, A, =
(A) A% —Ac”

(B) A —Ac

(C) AS —cA”

(D) Ar,—A

@32 g9

116.

i

118.

119.

120.

000 0 00 R

In Mercury cell, Cathode is a paste of
(A) Zinc and Mercury

(B) KOH and ZnO

(C) HgO and Carbon

(D) NH,Cl and ZnCl,

cell was used for providing
electrical power in the Apollo space
programme.

(A) H, -0, fuel

(B) Methanol — O, fuel
(C) Drycell

(D) Mercury cell

Am for NaCl, HCI and NaAc are 126.4,
425.9, 91.0 S cm? mol™! respectively.
n°for HAc is

(A) 266.5S cm? mol-T
(B) 271.6 S m? mol™!
(C) 396.5S m2mol™!
(D) 390.5 S cm? mol™"

Siderite is
(A) ZnCO,4
(B) FeCO4
(C) CuCOyq
(D) Aly(COj3)q

Pig iron contains % of Carbon.
(A) 3
(B) 6
C) 5

(D) 4
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113.

114.
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arforfsyes seftfa feram & ot 3 oifeam

g@ﬁmaﬁrmﬁwﬁmﬁ
|

(A) 6.32

(B) 3.62

(C) 2.62

(D) 4.62

Frest faerm =1 SeTe §
(A) 33T 3R TEieH
(B) FARIGH 3R UHieH
() THater o wifem
(D) SIS TR Ziege

1000 g it H IS = 1 mol faera |

T U UZH TR ST W 3aerdl

il

(A) 278.6 K

(B) 373.52 K

(C) 377.15K

(D) 273.52K
3UATEH I o U S A ED
T fearita =rar 2 |
(A) TEEANE aY
(B) TTEGISH 5y
(C) TETHTE

(D) IoaT THIUE

wiferedt forga stoeea o fog, A =
(A) A%, —Ac*

(B) A%,—Ac

(C) Ap,—CcA”

(D) A%—A

116.

0 773

118

119.

120.
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IR T |, S0 F1UF 30 2 |
(A) SR SR I

(B) KOH 3tk ZnO

(C) HgO 3T el

(D) NH,CI 3R ZnCl,

TS T JENT Ul STAfE
Frdsa 1 T wifda 3uerey = & fow
Toram |
(A) H,— 0,38
(B) faemid - O, $e
(C) T &«
(D) 9WI &S

NaCl, HCI 37t NaAc & forT A°. sae:
126.4, 425.9, 91.0 Scm2 mol~! & | a
HAC & fom o2

(A) 266.5S cm?mol

(B) 271.6 S m?mol-"

(C) 396.5S m2mol™

(D) 890.5 S cm? mol™"

faewse 2

(A) ZnCO,
(B) FeCO,
(C) CuCO,
(D) Aly(CO,),

Fe SIe | e o1 qiawd 8
(A) 3
(B) 6
C) 5
(D) 4



MKG-XXII/TECHJC/1T/02

121.

e

123.

124.

125.

-22.

Van Arkel method is used for refining
(A) Cobalt

(B) Nickel

(C) Zirconium

(D) Gold

The depressant used to separate Zns
and Pbs is

(A) KCl
(B) NaCl

(C) NaNO,
(D) NaCN

hardly forms any compound
in —3 oxidation state.

(A) Nitrogen
(B) Phosphorus
(C) Bismuth
(D) Arsenic

PCI X+3HCI; X is

5 " Hydrolysis
(A) H4PO,
(B) POCI,
(C) HgPO,
(D) HgPO,

Melting point of a-form of glucose is
(A) 423K
(B) 432K
(C) 419K
(D) 491K

126.

127.

128.

129.

130.

00 O O

Hydrolysis of sucrose brings about a
change in the sign of rotation from (+)
to (—) and the product is called

(A) Anomer

(B) Invert sugar
(C) Amylose

(D) None of these

Amylopectin is insoluble in water and
constitutes about % of
starch.

(A) 80-85
(B) 55— 60
(C) 15-20
(D) 30-40

Globular protein among the following
(A) Keratin
(B) Myosin
(C) Starch
(D) Insulin

Quinol is

(A) Benzene-1, 4-diol
(B) Benzene-1, 3-diol
(C) Benzene-1, 2-diol

(D) 1, 2-dimethoxy phenol

Cumene —°2_; Cumene hydroperoxide

+

H
THO
(A) Aldehyde
(B) Phenol
(C) Alcohol
(D) Ether

A + acetone; A is
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121.

122

123.

124,

125.
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39 e oty % iy &
fer s Y =Tt R |

(A) FiETe

(B) e

(C) ehifam

(D) T

Zns 3R Pbs Ft 3767 & % T yg=

s —rparenss— X+ 3HCL; X2

(A) HgPO,
(B) POCI,
(C) HgPO,
(D) HgPO,

RIS % o-FY 1 T &
(A) 423K
(B) 432K
(C) 419K
(D) 491K

126.

127

128.

129.

130.
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IS % ST 19 ATHA F U o Hohdl (+)
¥ () H 9T & SR 3AR
FET ¢ |

(A) 80-85

(B) 55-60

(C) 15-20

(D) 30-40
frferfaa o & TerRr 1idE &
(A) Ffem

(B) WRIEH

(C) wH

(D) wgfed

Tt 8

A) SSE-1, 439

(B) sSiH-1, 3-2/A

(C) SiSfF -1, 28I

D) 1, 2-efHuted fHaia

TA+E&5®:[ AR
(A) 3cSRRS

(B) Torret

(C) e

(D) 3R
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131.

132.

133.

134.

=24~

Acetylation of Salicylic acid produces
(A) Salicylaldehyde

(B) Paracetamol

(C) Aspirin

(D) Tert.-buty! alcohol

On treating phenol with chloroform in
presence of sodium hydroxide, a— CHO
group is introduced at a-position. This
reaction is

(A) Kolbe's reaction

(B) Mannich reaction
(C) Cannizzaro's reaction
(

D) Reimer-Tiemann reaction

Chlorobenzene on nitration gives
as major product.

A) 1-chloro-2-nitrobenzene

(

(B) 1-chloro-3-nitrobenzene
(C) 1-chloro-4-nitrobenzene
(

D) Nitrobenzene

NGB (5]
NH, NaNO, + HX 2 X
_—
273 - 278K

A s :
__;©’ +N,:AlS

(A) NaX
(B) CuyX,
(C) CuCN
(D) NaCN

135.

136.

137.

138.

139.

0000 O O

Synthesis of alkyl fluoride by heating
alkyl chloride in presence of a metallic
fluoride such as AgF is called

(A) Swarts reaction
(B) Finkelstein

(C) Kolbe's reaction
(D) Bromamide reaction

is slowly oxidised by air in
the presence of light to an extremely
poisonous gas, Carbonyl chloride.

(A) Ketone

(B) Carbon tetrachloride
(C) Chloroform

(D) Chlorobenzene

Common name of CH, =CHCHO is
(A) Mesityl oxide

(B) Acrolein

(C) Phthaldehyde

(D) Valeraldehyde

Methanal is a at room
temperature.

(A) Semi-solid (B) Solid

(C) Liquid (D) Gas

On heating an aldehyde with Fehling's
reagent, a precipitate is
obtained.

(A) Yellow
(B) Greenish blue
(C) Reddish brown
(D) Black
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31. HATafes 37 F g 8

132.

133.

134.
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SeqTfed BT g |
(A) sfcEEasTcEERe
(B) TIfHe™S
(C) ufer=
(D) eI SeTEa Aehierd
ifeam eseiaaTss 1 Sufefa & ke =i
FARIBH ¥ IU=TE foru 5w, o-feufa
W TF — CHO TYE &I 1l 8 | I8
sifufsrar 2
A) Fies St srfufsa
(B) rfaeh aqfrfsman
(C) Ffrzm i srfufawan
(D) - arfufsean
FARTSISA AR T T &I IAE
LR e |
(A) 1-FA0-2-152 sS4
(B) 1-5AI0-3-AT32IS1
(C) 1-FRI-4-TgeISA
(D) TEGrsist

NH. NaNO, + HX
e
273-278K
X
-'3-) @ +N,; A%

(A) NaX

(B) CusX,
(C) CuCN
(D) NaCN

L C]

Crt

135.

136.

137.

138.

139.
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U uifcash WIS S AgF ST Sufefa |
ITCHET TS F T FH W IeFEa
FANTZS FT AIAT FEATATE |

(A) T&reE sAfwfsan
(B) Th=herdi

(C) hrest sl 3Tfafsrar
D) SIS i

WeRTY1 3t ITETa | fiR-dR g
BRI U 37cdd former g e sanss
o IuRE e g |
(A) M
(B) W@f?m
(C) TS
(D) FARESH
CH,, = CHCHO 1 ET9T= T &
(A) ufberge AT
(B) i
(C) uceiEEe
(D REREHES

HieTeT FHL & dIEH W
(A) -3 (B) 34
(C) =3 (D) &

e 5 A 5 At 3
g T FE 9 FIET YT
BATE |

(A) dtem

(B) &UHTa
(C) Fat U
(D) =hret
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140.

141,

142.

143.

144,

- catalystis used in Clemmensen
reduction.

(A) Zn-Hg/HCI
(B) NH,NH,
(C) LiAIH,
(D) NaBH,

Formic acid was first obtained from
(A) Butter

(B) Vinegar

(C) Redants

(D) Lemon

pK, of Benzoic acid is
(A) 4.46
(B) 4.36
(C) 4.31
(D) 4.19

_______isused as a food preservative.
(A) Sodium tartarate

(B) Sodium benzoate

(C) Sodium acetate

(D) Sodium cyanate

Aromatic carboxylic acids do not undergo
reaction.

(A)
(B)
(C)
(D)

Kolbe’s electrolysis
Hell-Volhard-Zelinsky
Friedel-Crafts
Nitration

145,

146.

147.

148.

149.

O O 0 00O O 0

KMnO, — H,S0,
Heat
(A) Terephthalic acid

(B) Butanoic acid
(C) Adipic acid
(D) Benzoic acid

Cyclohexene

N
>

Isocyanide test is used as a test to
detect

(A) Primary amines
(B) Secondary amines
(C) Tertiary amines
(D) Diazonium salts

Aniline reacts with bromine water at
room temperature to give a
precipitate.

(A) Yellow
(B) Brown
(C) Red

(D) White

Diazonium salt solution when treated
with halogen acid in the presence of
yields halo.arene.

(A) Zn powder

(B) Pb-Hg

(C) Copper powder
(D) Pd powder

Essential amino acid among the
following is

(A) Glycine
(B) Alanine
(C) Valine
(D) Proline



Y 0 00 0 0O

140.

141.

142.

143.

144.
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IO FATE ITEE ° TG
B2 |
(A) Zn-Hg/HCI
(B) NH,NH,
(C) LiAH,
(D) NaBH,

Fife I I8 gy foRa
AT |

(A) HFEH

(B) faw

(C) wre difear

(D) g

Silig 3 1 pK, @
(A) 4.46

(B) 4.36

(C) 4.31

(D) 4.19

_ EEm uiee® & w9 H 9gE
TR |

(A) difeay 2tz
(B) wifezm sisfiue
(C) wHifeam wfree
(D) wifexw wrAe

QYRR FHEiFaicrsh T
Ffufsran =& % |

(A) s faga 19eeA
(B) TE-TrceTe~SAfereht
(C) Frea-shreey

(D) TSR

145.

146.

147.

148.

149.
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KMnO e HQSO 4

—

T Tal
FH T TF @ & w9 °§ g3 R
e |

(A) TTufiye =
(B) fadias s=g

(C) Ts =
(D) SHESIHIH Hice

@%ﬁ?ﬂi%mmaﬁqm%m
sttt =t SIS AT # |

(A) dier
(B) su
(C) =
(D) ¥ad

TSI |9 faeaq il 2drey 3
& Ty IT=TE fohe s T =
Iufeurd o &l ol sHa @ |

(A) Tore TI3eT
(B) Pb-Hg
(C) disT II3eT
(D) PduEet

fraferfaa § @ smavs ol ot
(A) TETEER

(B) TeHH

(C) I

(D) WA
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1583.

154.
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During denaturation of protein
remains intact.

(A)
(B)
(C)
(D)

Quaternary
3° structure
2° structure
1° structure

is fat soluble vitamin.
(A) Vitamin-C
(B)
(©)

(D)

Vitamin — A
Vitamin — B
Vitamin — B

[+}]

Deficiency of
blindness.

(A) Vitamin A
(B) Vitamin B,
(C) Vitamin B,,
(D) Vitamin C

causes night

A unit formed by the attachment of a
base to 1’ position of sugar is known
as

(A) Nucleotide
(B) Nucleoside
(C) Nucleon

(D) Nucleous

DNA doesn'’t contain
(A) Adenine

(B)
(C)
(D)

Guanine
Cytosine
Uracil

185.

156.

157.

158.

159.

A0 O 0 O Ot

Mass of the electron is
(A) 9.1084 x 10731 Kg
(B) —1.6x10719Kg
(C) 1.7588 x 10'1 Kg
(D) 9.7094 x 1031 Kg

Oil drop experiment is proposed by
(A) Rutherford

(B) Millikan

(C) Faraday

(D) Dalton

For each metal, there is a characteristic
minimum frequency, y,, below which
is not observed.

A) Emission

C) Spectrum

(
(B) Photoelectric effect
(
(D) Reflection

Splitting of spectral lines under the
influence of electric field is called
effect.

(A) Zeeman
(B) Bohr
(C) Mulliiken
(D) Stark

What is the total number of orbitals
associated with the principal quantum
numbern=37
(A) 3
C) ¢

(B) 6
(D) 12
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150.

151.

152.

153.

154.

T2 o ferelteor 3 S
wAR |

(A) =qd

__ g

faafm A

T % 1 o T ue &R e & o
HEE_ wEdmie |

(A) =[RS

(B) =feriiaTss

(C) =T

(D) =fFrem

DNA ® T 2 |
(A) ufef

(B) W@

(C) wTEAfRH

(D) FfEs

185,

156.

157.

158.

159.
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ST 1 599 &

(A) 9.1094 x 10731 Kg
(B) —1.6x1071%Kg
(C) 1.7588 x 10" Kg
(D) 9.7094 x 1031 Kg
e & SN
(A) TETHIE
(B) Tafeets
(C) e
(D) SreeH

FRRECIRIp Tl

TIF uTg & fou, u onefire =gHan
AR, v,, " FH W EE
feman |

(A) IcEsH
(B) WehTeT faa W
(C) =
(D) YUEEH

e &7 & wwie § Weee et &5
T FHEAT © |

& FE1eH §&A1 n = 3 T Tt FHamati i
FA AT TS 7
(A) 3
(C) 9

(B) 6
(D) 12
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160. H-0O —H bond angle in water is
(A) 107.4°
(B) 104.5°
(C) 105.4°
(D) 104:70

161. Bond order in F, and Og_ is

(B) 2
(D) 1.5

162. Dipole moment, u(D) of CCl, is
(A) 1.78
(B) 1.07
(C) 0.238
(D) 0

163. hybridization is observed

in C,Hg molecule.
(A) sp

(B) sp?

(C) sp®

(D) spid

164. Shape of [Pt(Cl),J*~ molecule is
(A) Square pyramidal
(B) Octahedral
(C) Square planar
(D) Linear

165.

166.

167.

168.

169.

050 OO O OO0

Li, molecule is

(A) Paramagnetic
(B) Diamagnetic

(C) Ferromagnetic
(

D) Anti ferromagnetic

For the reaction

Ny(g + 3Hs 2NH

2(g) = 2NM3(g)
(A) Ky =K,
(B) K, =K, (RT)?
(©) K, =K, (RT)
(D) K, =K, (RT)

It reaction quotient Q. < K, reaction

goes in

(A) reverse direction
(B) forward direction
(C) slow rate

(D) faster rate

If AGO<0 then reaction is
(A) Spontaneous

(B) Non-spontaneous
(C) At equilibrium

(D) Slow

catalyst is used in
the synthesis of H,SO, by contact
process.

(A) V,04
(C) AlL,O4

(B) Fe
(D) Zn
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160. AT H -0 - HEY H0 &
(A) 107.4°
(B) 104.5°
(C) 105.4°
(D) 104.7°

161. F,3fRO5 oy 02

(A) 1 (B) 2
(D) 1.5

162. CCl, =1 fge 1m0, u(D) @

(A) 1.78
(B) 1.07
(C) 0.23
(D) 0

163. C,Hg 31 & __ ErEfaersA

3T AT B
(A) sp
(B) sp?
(C) sp®
(D) sp3d

164. [PY(CI)J2~ 3] i rhfer 2
(A) o fuufies
(B) ey
(C) = gHaE
(D) =

31+

165.

166.

167.

168.

169.
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Li, 319 B

(A) s
(B) gl
(C) egea
(D) wiceitegsehia

2(q) + 3Ha(g) = 2NHg g F 1T

%

fe rfufsean e Q, < K, 2, &t stfifssar
__ "l

(A) et fesm

(B) 31 femm

(C) it

(D) TR T

I AGO<0 &, at i 2
(A) T
(B) SrEaTIfaeh

(C) HITH W

(D) it

IO wieae WAl g7 H,S0,
% TYAYU § Y Bla 2

(A) Vo0 (B) Fe

(C) Al,Oq4 (D) Zn
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171

172.

173.

174.

175.
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lonic product of water is
(A) 107 (B) 1077
(C) 104 (D) 10714

pH of human blood is
(A) 7.8
(C) 6.8

Stronger acid among the following is
(A) H,0 (B) CH,
(C) H,S (D) NH4

pH of the buffer solution prepared by
mixing equal molar concentration of
CH3COOH and CH,COONa is

(A) 4.67 (B) 4.76
(C) 9.25 (D) 9.52

When Na,CO4.H,0 is heated above
373K is obtained.

(A)
(B)
(C)
(D)

Washing soda
Caustic soda
Soda ash
Gypsum

is used in fire extinguishers.
Na,CO,4
NaCl
NaOH
NaHCO4

176.

177.

178.

179.

180.

0 00 OO 0 0 O 0 0

salts are used in the
treatment of cancer.

(A) Cesium
(B) Arsenic
(C) Bismuth
(D) Radium

Quick lime is
(A) CaCO,
(B) CaO
(C) CaCl,
(D) CaSO,

For a good quality cement, the ratio of
silica (SiO,) to alumina (Al,O4) should
be between

(A) 25and 4
(B) 3.5and4.5
(C) 5and6

(D) 1.5and2.5

Borax is

(A) Na,B,0,.5H,0
(B) Na,B,0,.10H,0
(C) Na,B,0,.7H,0
(D) Na,B,0,.H,0

Water gas is a mixture of
(A) COandS

(B) CO and H,0

(C) COandH,

(D) COandN,
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170.

171.

172.

173.

174.

175,

=33~

el 1 HAAF IR

(A) 107 (B) 1077

(C) 1014 (D) 10714

T T3 1 pH B

(A) 7.8 (B) 7.4

(C) 6.8 (D) 6.4
Freferfiaa & & it i s 2
(A) H0 (B) CH,

(C) H,S (D) NH,
CH,COOH 3t CH,COONa it TaM
U9 3 FiEdT i e 9w e w™
STETAS () fereras @1 pH #

(A) 4.67 (B) 4.76

(C) 9.25 (D) 9.52

S Na,CO4.H,0 Fi 373 K & 9T
o S @, @ I Bl 2

(A) =rEH gret
(B) =fes Arer
(C) "W=IT@
(D) S

FrftyTaeRt | s R s )
(A) Na,CO,

(B) NaCl

(C) NaOH

(D) NaHCO,

176.

A7

178.

179.

180.
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_mé’maﬁw%ﬂﬁu{{aﬁ@m%l

=1 TUTeT et HiHe =g, T (Sioy)

3R TERAT (Al,0,) T AT %
afft=r g1 =fen)

(A) 2534
(B) 35345
(C) 536

(D) 153 25

IR 2

(A) NayB,0,.5H,0
(B) Na,B,0,.10H,0
(C) Na,B,0..7H,0
(D) NayB,0,.H,0

AT FTE HEm R
(A) CO3RS

(B) CO 3R H,0

(C) CO 3R H,

(D) CO 3R N,
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181.

182.

183.

184.

185.

29a)

is used to convert alcohols
directly into gasoline.

(A) Silicate

(B) Pt-Pd catalyst
(C) zvC

(D) ZSM-5

Isomerism shown by the isomers
CH30 C4H; and C,H0 CoH,

(A) Metamerism

(B) Position isomerism

(C) Chain isomerism

(D) Functional group isomerism

Negative resonance effect is shown by

group.
(A) —OH

(B) — COOH

(C) — OCOR

(D) — NHCOR

Chloroform and aniline are separated
by

(A) Crystallisation

(B) Sublimation

(C) Distillation

(D) Chromatography

Carius method is used to estimate
in organic compound.

(A) Nitrogen
(B) Carbon

(C) Halogen
(D) Hydrogen

186.

187.

188.

189.

190.

A 000 0 0 OO

Methane reacts with steam at 1273 K in
the presence of,Nickel catalyst to form

(A) CO, and H,

(B) HCHO and H,0O
(C) CHZOH

(D) COandH,

Phenol is reduced to benzene by
passing its vapours overheated

(A) Zinc dust
(B) AICl,
(C) Alumina
(D) FeCly

Ortho and para directing group for
benzene among the following is

(A) —NO,
(B) - OH
(C) -CN
(D) - CHO

The commercial alcohol is made unfit for
drinking purpose by mixing in it with
(A) CuSO, and Pyridine

(B) CaCO4and CuSO,

(C) CuSO, and Phenol

(D) BaSO, and CuSO,

Molar conductivity A, =

K
(A) KC (B) c

(C) Kx1000C (D) 1000C
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STehieet o1 €Y TETe § seaq
 fore srgery e 21
(A) fafeee
(B) Pt-Pd3cR
(C) zZvVC
(D) ZSM-5

FFAfan it HoH CH,0 CqH-, 3R
C,H50 C,Hg IR e st 21
(A) HeATEgtadr

(B) Teufq waafaa

(C) T@a Faafaar

(D) FHTieT HqE Haafaar

HUTCH ITATE YT e g
e Sran 21

(A) —OH

(B) — COOH
(C) —OCOR
(D) —NHCOR

FARGH 3R T TR 9 T
EInk

(A) @

(B) 3edUTeH

(C) TEad

(D) wferEs

Fiem fafy s Affr d =
SIS &1 o fore 3 =Y st 2

(A) ATEEISH

(B) e

(C) TarH

(D) TTEESH

186.

187.

188.

189.

190.
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e 9T & Ty 1273:}(‘:[(%%&3@@
$ Iufeufa o T & foru
FfufsF g |

(A) CO, 3R H,

(B) HCHO 3R H,0

(C) CH,OH

(D) CO SR H,

IETINRIL T gHEh T A
o S # srafE g g |

(A) 5% & g

(B) AICI,

(C) wgf

(D) FeClg

frafafaa § @ S % fag snyt s da
s g @

(A) —NO,

(B) — OH

(C) —CN

(D) —CHO

aiforfsre Stesies 9 & fore s/mg sam
WW_ Huyamame |
(A) CuSO, 37t ursld

(B) CaCO, 3R CuSO,

(C) CuSO, 3 fHATa

(D) BaSO, 3 CuSO,

T [ ATARAT A, =
K
(A) KC ®
(C) Kx1000C (D) 35000
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Van’t Hoff factor ‘i’ for aqueous KCI
solution is close to

(A) 05
) 2

(B) 1.5
(D) 2.5

is the purest form of commercial
Iron.

(A) Pigiron

(B) Castiron
(C) Scrap iron
(D) Wrought iron

Bronze is the alloy of
(A) Copper and Zinc
(B) Copper and Tin
(C) Copper and Nickel
(D) Copper and Lead

Unit of molal elevation constant K, is
(A) kg mol K1

(B) mol K kg™

(C) K kg mol™?

(D) Kkg

The preservation of meat by salting
and of fruits by adding sugar protects
against bacterial action through

(A) Dialysis

(B) Fermentation
(C) Reverse osmosis
(D) Osmosis

196.

197.

198.

199.

200.

00 0O OO0 0 0 0 O 0

In Wurtz reaction, alkyl halide reacts
with Na in dry ether to give

(A) Haloarene
(B) Hydrocarbon
(C) Ester

(D) Aldehyde

A better reagent for oxidation of primary
alcohols to aldehydes in good yield is

(A) DCC (B) CrO,
(C) DHF (D) PCC

Glucose undergo fermentation in the
presence of

(A) Invertase
(B) Lyases
(C) Zymase
(D) Ligases

is used in the synthesis of
Nylon-6,-6.
(A) Hexanedioic acid
(B) Butanoic acid
(C) Pentanedioic acid

(D) Benzoic acid

Cellulose is composed only of
(A) a-D-glucose

(B) B-D-glucose

(C) Glycogen

(D) Lactose
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191.

192.

193.

194.

195.

“37=

S KCl faeem #g 3= =% Tones
% 3rcda e # |

(A) 0.5 . (B) 1.5

) 2 (D) 2.5

s @ 1 Ead §9 ¢ |
(A) e el
(B) aAdT A=
(C) T e

(D) fieat e
Feg

(A) aTaT R SR
(B) dfs 3R 7
(C) s 3R e
(D) difs 3T e

FuF g ag? |

T el Hadi K, I 31 &
(A) kg mol K-

(B) mol K kg™

(C) K kg mol™!

(D) Kkg

HIG HT1 T0F AR I Fal F1 =

TeTeRt ufwer sframett & e & foaeg
% TTETH O & HAT ¢ |

(A) SHAEH

(B) fFvam

(C) 32T THIHRTET

(D) TETITETT

196.

197.

198.

199,

200.
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o= sl |, et 2eiee Na %

T Y SO T AR e

e

(A) BT

(B) ETSGIHTEH

(C) =

(D) Treterss

TTHe ke ¥ 331 AT H Ueelese
T I oY U el SATHFEE ¢

(A) DCC (B) CrO,

(C) DHF (D) PCC

oS s 3ufeyfa o forfoaa g
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IMPORTANT INSTRUCTIONS TO CANDIDATES
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17

18.

18.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method
OO0

Wrong Method

O®0O0

Wrong Method

0O®00

Correct Method

Ce00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Bookliet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15

16.

17

18.

19.
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